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A gH
M HF2IJHI(EY)
chel: Jl2&dl =k
SN -3H - S2A(2AH) - NRAY - BE= &HeR &
g 153,522 91,122 62,400
AY2IIHI(EH) 91,522 91,122 400
==l 71,358 70,958 400
Jl23bl 71,358 70,958 400
307 212t0ld 1,600 1,200 400
05 2IZt?E= 1,600 1,200 400
o RUIAHIAIAY 895 44 1,600,000 1,600 1,200 400
NABRECIN(EE) 62,000 0 62,000
Bl=3 A 62,000 0 62,000
MBI 62,000 0 62,000
401 AlZHIZL S0 62,000 0 62,000
01 Al&H] 62,000 0 62,000
o WP FXZAISSAMY 15,000,000 15,000 0 15,000
© 38 SFZIESSAMY 15,000,000 15,000 0 15,000
o @32 RA0E FEF-ZAESHAMY
16,000,000 16,000 0 16,000
o =i A0S sZ2EEA 16,000,000 16,000 0 16,000
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AN SH
HHM: HH2AAH(SsH)
&t D=3l ? A
N - Z3 - S2(3AH) - MRA Hd= &hoh Z
=3t 126,331 85,931 40,400
HEY2IHH(S3H) 86,331 85,931 400
=34 66,718 66,318 400
=34 66,718 66,318 400
307 Ql12told 1,600 1,200 400
05 QIZtRE = 1,600 1,200 400
o RoFHIAIA Z& 1,600,000 1,600 1,200 400
AN BHaeI(sSsH) 40,000 0 40,000
=3 MY 40,000 0 40,000
MEHOALY 40,000 0 40,000
401 AIEHIZL 20U 40,000 0 40,000
01 Al£Hl 40,000 0 40,000
o ¥ g8 & 20,000,000 20,000 0 20,000
o 78 St = 20,000,000 20,000 0 20,000
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SN A
HA: SYS AN (MAH)
el Jl=&3 ? A
SNBSS - MBAY - BES =
=2 205,293 94,893 110,400
HE2IZHI(HAH) 95,293 94,893 400
=3l 73,214 72,814 400
Jl=&dd| 73,214 72,814 400
307 Ql12told 2,656 2,256 400
05 QIZtRE = 2,656 2,256 400
o FOAHAAY E9= Z& 2,656,000 2,656 2,256 400
KNS A I (AAH) 110,000 0 110,000
D=3 A 110,000 0 110,000
MEHOI ALY 110,000 0 110,000
401 Al&HIZL=RCHYI 110,000 0 110,000
01 Al&HI 110,000 0 110,000
o 2Xcd 42 S22 L =AM
20,000,000 20,000 0 20,000
o St SETEFAY 20,000,000 20,000 0 20,000
o £8 A g2 XS3AME 20,000,000 20,000 0 20,000
o A0 0tE8 =27 S3AE 20,000,000 20,000 0 20,000
o SEc A sTEIAMY 30,000,000 30,000 0 30,000
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A aAH
M HZ2IIHI(4AHH)
chel: Jl2&l =k
N - Z3 - S2(3AH) - MRA BHeg= &hoh I8N &
A 169,369 108,969 60,400
HH2IZHI(HAHS) 109,369 108,969 400
==l 86,580 86,180 400
=& 86,580 86,180 400
307 212t0ld 1,600 1,200 400
05 BIZRE=S 1,600 1,200 400
o RUIAHIAIAY 895 44 1,600,000 1,600 1,200 400
KB RARIDN(AAHH) 60,000 0 60,000
=AY 60,000 0 60,000
MEEGALS 60,000 0 60,000
401 AlZHIZL S0 60,000 0 60,000
01 Al&H] 60,000 0 60,000
o 24 2% s EIAY 20,000,000 20,000 0 20,000
o AHE OEl0IEs7Y A 20,000,000 20,000 0 20,000
o HY SZZFAY 20,000,000 20,000 0 20,000
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A 2EH
M HZ2ITH|(EEY)
chel: Jl2&l =k
N - Z3 - S2(3AH) - MRA Hd= &hoh I8N &
28 151,415 103,015 48,400
HH2FZHI(2EH) 103,415 103,015 400
Jl2dt 81,521 81,121 400
=& 81,521 81,121 400
307 212t0ld 1,600 1,200 400
05 BIZRE=S 1,600 1,200 400
o RUIAHIAIAY 895 44 1,600,000 1,600 1,200 400
NAZRAIN(E2EH) 48,000 0 48,000
=AY 48,000 0 48,000
SHAAY 48,000 0 48,000
401 AlZHIZL S0 48,000 0 48,000
01 Al&H] 48,000 0 48,000
o HYcl HAEY SSZFA 14,000,000 14,000 0 14,000
© 32 SZTEIFAY 5,000,000 5,000 0 5,000
o Ot=cl EF2 7 S3AY 17,000,000 17,000 0 17,000
o Ot=xcl OtES3l2 SIHAL 12,000,000 12,000 0 12,000
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A RA K=
M HZ2ITH(MYH)
chel: Jl2&l oA
A3 - 22A(ZAH) - MBAY - BE=S &HeR &
N&d 145,586 85,186 60,400
HH2IZHI(MYE) 85,586 85,186 400
&l 65,988 65,588 400
=& 65,988 65,588 400
307 212t0ld 1,600 1,200 400
05 BIZRE=S 1,600 1,200 400
o RUIAHIAIAY 895 44 1,600,000 1,600 1,200 400
KNABRARIDIN(MEH) 60,000 0 60,000
=AY 60,000 0 60,000
MEEGALS 60,000 0 60,000
401 AlZHIZL S0 60,000 0 60,000
01 Al&H] 60,000 0 60,000
o Y d4axsHY dYy=z 20,000,000 20,000 0 20,000
o &8 EHlsE Yz X 20,000,000 20,000 0 20,000
o HE1 dH= S2EHA 20,000,000 20,000 0 20,000
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A S
M HZy2ITH(5LH)
chel: Jl2&l =k
A3 - 22A(ZAH) - MBAY - BE=S &HeR &
s2d 125,655 85,255 40,400
HH2FZHI(5LE) 85,655 85,255 400
=3l 65,988 65,588 400
=& 65,988 65,588 400
307 212t0ld 1,600 1,200 400
05 BIZRE=S 1,600 1,200 400
o RUIAHIAIAY 895 44 1,600,000 1,600 1,200 400
NAZRAeIN(=SLH) 40,000 0 40,000
=AY 40,000 0 40,000
SHAAY 40,000 0 40,000
401 AlZHIZL S0 40,000 0 40,000
01 Al&H] 40,000 0 40,000
o ME HRE Fr22LS3AE
20,000,000 20,000 0 20,000
o s =28t 20,000,000 20,000 0 20,000
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SN =08

X{ ZH -
S = -

el

[
2

=0 152,387 91,987 60,400
HEY2IHHI(S01H) 92,387 91,987 400
24l 72,090 71,690 400
=&l 72,090 71,690 400

307 Ql12told 1,600 1,200 400

05 QIZtRE = 1,600 1,200 400

o FOAHAAY E9= Z& 1,600,000 1,600 1,200 400

KNS BHAeII(=01H) 60,000 0 60,000
=3 MY 60,000 0 60,000
MEHOALY 60,000 0 60,000
401 AIEHIZL 20U 60,000 0 60,000

01 Al&HI 60,000 0 60,000

o X Hx S AXSHA 20,000,000 20,000 0 20,000

o X4 SZ2EFAY 20,000,000 20,000 0 20,000

o U SZEFIALY 20,000,000 20,000 0 20,000
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2A: S5otH

M. HNSHHHI(SolH)

S 2| oz
2N - HE .2 (S H) - MEA HE= AFoH 2+

=ot 151,818 86,418 65,400
HY2HHHI(SotH) 86,818 86,418 400
=34 67,354 66,954 400
Jl=&Hl 67,354 66,954 400
307 Ql12told 1,600 1,200 400

05 QIZtRE = 1,600 1,200 400

o FOAHAAY E9= Z& 1,600,000 1,600 1,200 400

KNS BHAae I (S0+H) 65,000 0 65,000
D=3 A 65,000 0 65,000
MEHOI ALY 65,000 0 65,000
401 AIEHIZL 20U 65,000 0 65,000

01 Al&HI 65,000 0 65,000

o e == HHIAt 25,000,000 25,000 0 25,000

o &g == HHIAt 20,000,000 20,000 0 20,000

o G o= A 20,000,000 20,000 0 20,000
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